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Receipt which are non-recurring by nature and whose benefits is enjoyed over a long
period are called___ ?

a. Credit card b. Cash Memo

¢. Revenue Receipt d. Capital Receipt

Receipt which are recurring by nature and which are available for meeting all day to

day expenses of a business concern are known as ?
a. Revenue Receipt b. Cash Mem
¢. Debit Card d. Capital Receipl

Which of the following situations would trigger clubbing provisions for income tax
purpose?

a. Gifts received from relatives.

b. Interest earned on investments made by spouse.

¢. Salary earned by a minor child for services rendered .

d. Rental income from a property owned by spouse.

What does” set off and carry forward of losses” refer to in tax matlers?
The process of deducting losses from one source of income against gains from
another source within the same financial year.
The utilization of losses incurred in one financial year against gains in subsequent
' years.
c. The transfer of losses to a different taxpayer for tax purposes.
d. The adjustment of losses against tax liabilities without carrying them forward.

What does TDS stand for in the context of the Income Tax Act ,1961?

a. Tax Deduction Scheme. b. Tax Deduction at Source.
c. Tax Deferral System d. Tax Depreciation System.
Which of the following is not an income tax authority under the Income Tax Act?
5 Commissioner of Income Tax Principal Commissioner of Income
" (Appeals). N Tax.
¢. Deputy Commissioner of Police. d. Assessing Officer.
What is the due dale for paying self-assessment tax for individual taxpayers in India?
a. 1% July of the assessment year. b. 31t March of the assessment vear.
c. 30" June of the assessment year. d. 31*December of the assessment vear.
What does GST stand for?
a. Goods and State Tax. b. Goods and Sales Tax.
c. General Sales Tax. d. Goods and ServicesTax.

Which of the following best defines double taxation?

a. Taxation of the same income by two or more countries.
b. Tax evasion through offshore accounts.

c. Taxation of different types of income by a single country.
d. Taxation of income only in the taxpaver’s home country.
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